UNIT 2: EQUATIONS & INEQUALITIE

Page 10f3

- o

~~ Unit 2, Page10 ~~

Objectives: | can solve two step equations.

SOLVING TWO STEP EQUATIONS

' | lities - ones that have two-
omplicated equations and inequa : es { /
me more C T.ZZ HWeloperationaysolving equations is like solving @

Now we'll solve so
= SRV :
Ye ble you're looking for

step solutions, {l se they involve two | allon! :
uzzle. Just keep working through the steps until you get the varia
mn one side of the equation. This is called

beca

Here's a two-step equation. Let's start with the variable x, and describe, step b s.tfﬁ, what
is being done to x in an equation. F’OL«)

3x  |First, x is @iﬁﬁg&’p‘y;}vee. B
3x - 10 Next, ten is_§ubt@etedfirom the term Sx .\
3x - 10 = 14 We get a result of 14, ;

e N
Start with x --> Multiply by 3 --> Subtract 10 --> | ~3 £10
Result is 14. |
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Solving an equation is like working the equation backwards to discover what number will

work in the equation. Now let's work backwards and use inverse operations to undo all
the steps. We can start with the result of 14.

14 Start with result. ( undo op.zmh'oas o reng'ievc nu»«‘urs)

Next, workmg backwards, we can ara_—dlo, which l

_FI0 sthe inverse of Subhkchiag, 10, |

‘Now we ,,.d_\y_(de, _ by 3, since that's the ,

244210 in e of +pl by 3 ‘

S invers W\up\{l . by 3. :
% =1 . |We get an answer of 8.

Start with result of 14 —> Add 10 —> Divide by 3
Answer is 8.
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Do you see how it's important when solving an equation to "undo" all the steps in the
correct order? No matter how many steps are in the original equation, you can work
backwards and apply the inverse operations, in order, to arrive at the solution!

'}o as a one-step equation.

(_,\;&"6 l Solving a two-step equation requires the same procedure(s)
‘b ' However, the order in which the procedures are done
o !A

Use veverSe ocder of operghions dp “solve
" Do the inverse operation for | » Do the inverse operation of |
- addition _o_rAsy.b_traction_.tizsﬁo__—II,Z‘_mylt_iins"s_ti_tm_or division last.
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3x - 10 = 14 Equation . ! ! @
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Lean: Solve two-step eqdaﬁ&ts‘/

&1-A&iQ+0&Mﬁd6

Step 2: Then@iide both sides by 5
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Check your answer.

L BEe)-4= 2l
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Perform the inverse operations
when solving equations.

5 + 2N

@ Five more than 2 times a numbe
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You can use two- -step equations to solve many problems. Write an equation for ea"#ar‘?solve

-'7

5+2n =.—-7

Equation:

T Do List
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‘Solve 7
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2+7n = 5|

Equanon Zx G lg
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5¢2n =-7
&+ 20~),= -7
5+ (-12)=-1
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Practice:
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